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Cluster: 0046 ptr; resid: 0.37; r/c: 49/62

x.range

upstream meme PSSM #1; e=0.0024

1 3 5 7 9 11 131 3 5 7 9 11

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.7e+03

1 3 5 7 9 11 131 3 5 7 9 11 13
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●14915
27659

17504
49047

19661

20504

21873

22019

27082
31367

34994

37232

37840

37959

39864

42995
43205

43730

43902

43921
43955

44015

44691

45064

46474

47249

47297

47458

47518

47521

47665

47907

48093

48264

48300

48471

48507

48519

48709

49132

49153

49199

49287

49481

49755

50293

50373

50451

52425

string −500 −400 −300 −200 −100 −1
47907−0.00 37232−0.01 47249−0.04 17504−0.10 48709−0.10 47665−0.11 43955−0.12 50373−0.14 20504−0.19 44015−0.21 47518−0.22 49287−0.27 43902−0.31 47521−0.38 49047−0.39 48264−0.40 22019−0.61 50451−0.71 49199−0.71 27659−0.80 48093−0.81 37959−0.88 31367−1.07 49755−1.21 39864−1.35 14915−1.59 47297−1.62 43921−1.72 37840−1.92 49132−1.95 49153−1.98 19661−2.07 48507−2.19 42995−2.25 50293−2.47 48300−2.48 45064−2.51 34994−2.63 48519−2.65 49481−2.92 43730−2.97 47458−3.12 27082−3.34 48471−3.38 21873−3.77 52425−4.51 43205−5.07 46474−5.53 44691−7.25

log10(P) upstream meme1 2 log10(P.clust)=−1.69; 49 seqs; 49 uniq
c(0.5, 2.5)
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